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Status : Not Answered
Chosen Option : --
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Chosen Option : --
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Question ID : 630680179296
Status : Not Answered
Chosen Option : --
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Question ID : 630680179298
Status : Not Answered
Chosen Option : --
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Question ID : 630680179327
Status : Not Answered
Chosen Option : --
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Question ID : 630680177061
Status : Not Answered
Chosen Option : --
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Question ID : 630680177107
Status : Not Answered
Chosen Option : --
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Question ID : 630680179349
Status : Not Answered
Chosen Option : --
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Question ID : 630680177084
Status : Not Answered
Chosen Option : --
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Question ID : 630680177077
Status : Not Answered
Chosen Option : --
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Question ID : 630680177122
Status : Not Answered
Chosen Option : --
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Question ID : 630680179289
Status : Not Answered
Chosen Option : --
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Question ID : 630680179315
Status : Not Answered
Chosen Option : --
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Question ID : 630680179329
Status : Not Answered
Chosen Option : --
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Question ID : 630680179334
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Chosen Option : --
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Question ID : 630680179312
Status : Not Answered
Chosen Option : --
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Question ID : 630680177099
Status : Not Answered
Chosen Option : --
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Question ID : 630680177066
Status : Not Answered
Chosen Option : --
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Question ID : 630680179360
Status : Not Answered
Chosen Option : --
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Question ID : 630680179332
Status : Not Answered
Chosen Option : --
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Ans

Comprehension:
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Question ID : 630680179386
Status : Not Answered
Chosen Option : --

Comprehension:
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Question ID : 630680179384
Status : Not Answered
Chosen Option : --




Comprehension:
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Question ID : 630680179387
Status : Not Answered
Chosen Option : --

Comprehension:
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Question ID : 630680179385
Status : Not Answered
Chosen Option : --




Comprehension:
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Question ID : 630680179388
Status : Not Answered
Chosen Option : --

Section : English Language

Q.1 Select the most appropriate option that can substitute the underlined segment in the given
sentence to make the sentence grammatically correct.
The first 30 months of India’s tryst with the integration of the princely states within the new
administrative and political architecture of the country are a marvel itself.

Ans X A.is amarvelin self
«” B.is amarvelbyitself
< C. are amarvel of itself

#< D. are of marvel itself

Question ID : 630680179484
Status : Answered
Chosen Option : B

Q.2 Select the option that can be used as a one-word substitute for the underlined segment in
the given sentence.
They have alleged that acts of killing of a whole race and torture were carried out.

Ans X A regicide
< B. homicide
2 C. parricide
+" D. genocide

Question ID : 630680179480
Status : Answered
Chosen Option : A




Q.3

Ans

Select the most appropriate preposition to fill in the blank.
Many students suffer examination fever.

KX Alin
< B.by
" C. from

25 D. of

Question ID : 630680179503
Status : Answered
Chosen Option: C

Q.4

Ans

Select the most appropriate article to fill in the blank. In case no article is needed, select
‘No article needed'.
As the day of

K Aa

< B. No article needed
«" C.the

25 D.an

attack approached, Collins assembled his men.

Question ID : 630680177390
Status : Answered
Chosen Option: C

Q.5

Ans

Select the most appropriate ANTONYM of the given word.
Tenacious

«” A. Yielding

#5 B. Encompassing
Z< C. Invincible

< D. Stout

Question ID : 630680179446
Status : Answered
Chosen Option : A

Q.6

Ans

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.

A. someone who is grieving

B. we can do for

C. is to stay in touch

D. one of the most helpful things

2< A.BACD
7< B.DCAB
7< C.BDCA
& D. DBAC

Question ID : 630680179468
Status : Answered
Chosen Option: C




Q.7 Parts of the following sentence have been given as options. Select the option that contains
a spelling error.
You must labour to keep alive in your breast that spark of exuberant celestial fire, called
consciense.

Ans  # A celestial fire, called consciense
#< B. alive in your breast that
25 C. spark of exuberant
25 D. You must labour to keep

Question ID : 630680179464
Status : Answered
Chosen Option : A

Q.8 Select the most appropriate option that can substitute the underlined segment in the given
sentence to make the sentence grammatically correct.
At the final eve, cricketer Ranatunga dismissed Warne as ‘an average spinner’ and had an
uncanny ability to get under the Australians’ skin.

Ans X A. At the eve of the final

¥ B. On the eve of the final
< C. On final eve
25 D. At the eve of final

Question ID : 630680179485
Status : Answered
Chosen Option : A

_——
Q.9 Choose the most appropriate synonym of the word given below.

Vindictive
Ans  # A Malicious
#< B. Insulting
25 C. Embarrassing

25 D. Convincing

Question ID : 630680179449
Status : Answered
Chosen Option : A

Q.10 Select the appropriate option to fill in the blanks.
According to a survey, 57% of employees ‘feel less connected to their organisation's goals’
since the coronavirus pandemic , while more than half feel their work achievements
less by higher-ups since moving to remote work.

Ans X A. has taken hold; notice

«# B. took hold; are noticed
< C. was taken hold; were noticed

25 D. took held; had noticed

Question ID : 630680179520
Status : Answered
Chosen Option: D




Q.11 Select the most appropriate articles to fill in the blanks. In case no article is needed, select
'No article required'.
______more you cry,

more your enemies will rejoice.
Ans X A. No article required; no article required

" B. The; the
#< C. No article required; the

#5 D. The; no article required

Question ID : 630680179508
Status : Answered
Chosen Option: B

Q.12 Select the correctly spelt word.
Ans X A. Advize

#< B. Tution
< C. Greatful
" D. License

Question ID : 630680179461
Status : Answered
Chosen Option: D

Q.13 Select the most appropriate option that can substitute the underlined segment in the given
sentence to make the sentence grammatically correct.
An agile leader believes that solutions evolve on a real-time basis and that the solutions of
the past may not be the solutions of today as when they need to change along the times.

Ans X A. asthey need for change along with
7< B. as they along with need to change
" C. asthey need to change along with

< D. when as they need to change along

Question ID : 630680179489
Status : Answered
Chosen Option: C

Q.14 Select the most appropriate option to fill in the blanks.
It was April 1988, and | had to India to study the potential and feasibility of buying and
shipping prawns for the seafood plant in Scotland. It was meant to be a business trip like
any other, 10 days there and back. | could never have imagined the impact it have on
me, how it would be a springboard to a complete overhaul of everything | knew.

Ans X A. been; should

#< B. transported; could
< C. traversed; must

«# D. travelled; would

Question ID : 630680179491
Status : Answered
Chosen Option: D




Q.15 Choose the option that completes the proverb used in the following sentence.
You should not take undue stress; there is more than one way to

Ans X A. trainadog

< B.tame a mouse
4 C. skin acat
25 D. bell a cow

Question ID : 630680179456
Status : Answered
Chosen Option: D

Q.16 Select the appropriate option to fill in the blank.
into slavery in February 1818, Elizabeth Hobbs Keckley was the daughter of her owner,

Armistead Burwell, and his house slave, Agnes.
Ans  # A.Born

#< B. Had born

75 C.Was born

< D. Borned

Question ID : 630680179516
Status : Answered
Chosen Option : A

Q.17 Select the option that can be used as a one-word substitute for the given group of words.
A person who loathes women or is discriminatory against them

Ans  &# A Misogynist
#< B. Misogamist
Z< C. Misanthrope
2< D. Misandrist

Question ID : 630680179476
Status : Answered
Chosen Option : A

Q.18 Select the most appropriate meaning of the underlined idiom.
Dhanishta had always worked very hard and hoped she would get a promotion but now felt

that she had hit a glass ceiling.
Ans X A. A place that was transparent and open for all participants
«" B. A point after which you cannot go any further, usually in improving your position at

work
#5 C. A point where one has always aspired to reach

#5< D. A hard place to be where everything is brittle

Question ID : 630680179453
Status : Answered
Chosen Option : B




Q.19

Select the most appropriate adverb to fill in the blank.

My father drives the car than my mother.
Ans o A faster
< B. sooner
25 C. speedier
< D. quicker
Question ID : 630680179500
Status : Answered
Chosen Option : A
Q.20 Choose the option that substitutes the text given in brackets in the sentence below.
| say these words in a rush, like they are being (to get rid of something unwanted, harmful,
or evil) from the core of me.
Ans X A indoctrinated
Z< B. Intoxicated
25 C. Persecuted
+" D. purged
Question ID : 630680177376
Status : Answered
Chosen Option : B
Comprehension:
Read the following passage and answer the given questions:
On 5 January, two days ahead of the Russian Orthodox Christmas, Patriarch Kirill of Moscow
and All Russia called on ‘all parties’ involved in the 10-month-old Ukraine war to establish a
Christmas truce. Within hours, the Kremlin declared a unilateral ceasefire from Friday noon
through Saturday midnight along the entire frontline. Whether the Kremlin listened to the
Patriarch or the Patriarch called for what the Kremlin wanted, the incident, once again,
showed the close relationship between the church and the officially secular state in Russia.
The day before Russian President Vladimir Putin announced his special military operation on
24 February 2022, Patriarch Kirril, 76, hailed Russian troops as ‘defenders of the fatherland'.
Weeks after the invasion began, he said the conflict had ‘meta-physical significance’ for both
Russians and Ukrainians. ‘We are talking about human salvation!
The Patriarch’s comments were hardly surprising. Ever since his anointing as the Patriarch by
the Holy Synod, a council of bishops, in 2009, he has largely taken positions that are aligned
with the Kremlin's interests. He supported Russia’s intervention in Syria in 2015. He also
backed Russia’s policies towards eastern Ukraine where the crisis broke out in 2014.
SubQuestion No : 21
Q.21 What is the central theme of the passage?
Ans X A.Putin’s policies

#< B. Russia’s relations with Syria
4" C. Alignment of the Church and Kremlin in Russia

< D. Russia-Ukraine War

Question ID : 630680177411
Status : Answered
Chosen Option: D




Comprehension:
Read the following passage and answer the given questions:

On 5 January, two days ahead of the Russian Orthodox Christmas, Patriarch Kirill of Moscow
and All Russia called on ‘all parties’ involved in the 10-month-old Ukraine war to establish a
Christmas truce. Within hours, the Kremlin declared a unilateral ceasefire from Friday noon
through Saturday midnight along the entire frontline. Whether the Kremlin listened to the
Patriarch or the Patriarch called for what the Kremlin wanted, the incident, once again,
showed the close relationship between the church and the officially secular state in Russia.
The day before Russian President Vladimir Putin announced his special military operation on
24 February 2022, Patriarch Kirril, 76, hailed Russian troops as ‘defenders of the fatherland'.
Weeks after the invasion began, he said the conflict had ‘meta-physical significance’ for both
Russians and Ukrainians. ‘We are talking about human salvation!

The Patriarch’s comments were hardly surprising. Ever since his anointing as the Patriarch by
the Holy Synod, a council of bishops, in 2009, he has largely taken positions that are aligned
with the Kremlin's interests. He supported Russia’s intervention in Syria in 2015. He also
backed Russia’s policies towards eastern Ukraine where the crisis broke out in 2014.

SubQuestion No : 22
Q.22 Identify the synonym of the word ‘salvation’ used in the passage.
Ans X A. Friendship

45 B. Suffering
" C. Rescue
< D.Balm

Question ID : 630680177415
Status : Answered
Chosen Option: C

Comprehension:

Read the following passage and answer the given questions:

On 5 January, two days ahead of the Russian Orthodox Christmas, Patriarch Kirill of Moscow
and All Russia called on ‘all parties’ involved in the 10-month-old Ukraine war to establish a
Christmas truce. Within hours, the Kremlin declared a unilateral ceasefire from Friday noon
through Saturday midnight along the entire frontline. Whether the Kremlin listened to the
Patriarch or the Patriarch called for what the Kremlin wanted, the incident, once again,
showed the close relationship between the church and the officially secular state in Russia.
The day before Russian President Vladimir Putin announced his special military operation on
24 February 2022, Patriarch Kirril, 76, hailed Russian troops as ‘defenders of the fatherland'.
Weeks after the invasion began, he said the conflict had ‘meta-physical significance’ for both
Russians and Ukrainians. ‘We are talking about human salvation!

The Patriarch’s comments were hardly surprising. Ever since his anointing as the Patriarch by
the Holy Synod, a council of bishops, in 2009, he has largely taken positions that are aligned
with the Kremlin's interests. He supported Russia’s intervention in Syria in 2015. He also
backed Russia’s policies towards eastern Ukraine where the crisis broke out in 2014.

SubQuestion No : 23
Q.23 Which of the following is not a fact cited in the passage?
Ans  &* A.Vladimir Putin and Patriarch Kirill are friends.

J5 B. Patriarch Kirill is part of the Russian Orthodox Church.
< C. Vladimir Putin is the President of Russia.

< D. The council of bishops is called ‘Holy Synod'.

Question ID : 630680177412
Status : Answered
Chosen Option : A




Q.24
Ans

Comprehension:
Read the following passage and answer the given questions:

On 5 January, two days ahead of the Russian Orthodox Christmas, Patriarch Kirill of Moscow
and All Russia called on ‘all parties’ involved in the 10-month-old Ukraine war to establish a
Christmas truce. Within hours, the Kremlin declared a unilateral ceasefire from Friday noon
through Saturday midnight along the entire frontline. Whether the Kremlin listened to the
Patriarch or the Patriarch called for what the Kremlin wanted, the incident, once again,
showed the close relationship between the church and the officially secular state in Russia.
The day before Russian President Vladimir Putin announced his special military operation on
24 February 2022, Patriarch Kirril, 76, hailed Russian troops as ‘defenders of the fatherland'.
Weeks after the invasion began, he said the conflict had ‘meta-physical significance’ for both
Russians and Ukrainians. ‘We are talking about human salvation!

The Patriarch’'s comments were hardly surprising. Ever since his anointing as the Patriarch by
the Holy Synod, a council of bishops, in 2009, he has largely taken positions that are aligned
with the Kremlin's interests. He supported Russia’s intervention in Syria in 2015. He also
backed Russia’s policies towards eastern Ukraine where the crisis broke out in 2014.

SubQuestion No : 24
Identify the tone of the passage.
2 A. Bitter

25 B. Critical
" C. Analytical
< D. Humorous

Question ID : 630680177413
Status : Answered
Chosen Option: C

Q.25
Ans

Comprehension:

Read the following passage and answer the given questions:

On 5 January, two days ahead of the Russian Orthodox Christmas, Patriarch Kirill of Moscow
and All Russia called on ‘all parties’ involved in the 10-month-old Ukraine war to establish a
Christmas truce. Within hours, the Kremlin declared a unilateral ceasefire from Friday noon
through Saturday midnight along the entire frontline. Whether the Kremlin listened to the
Patriarch or the Patriarch called for what the Kremlin wanted, the incident, once again,
showed the close relationship between the church and the officially secular state in Russia.
The day before Russian President Vladimir Putin announced his special military operation on
24 February 2022, Patriarch Kirril, 76, hailed Russian troops as ‘defenders of the fatherland'.
Weeks after the invasion began, he said the conflict had ‘meta-physical significance’ for both
Russians and Ukrainians. ‘We are talking about human salvation’

The Patriarch’s comments were hardly surprising. Ever since his anointing as the Patriarch by
the Holy Synod, a council of bishops, in 2009, he has largely taken positions that are aligned
with the Kremlin's interests. He supported Russia’s intervention in Syria in 2015. He also
backed Russia’s policies towards eastern Ukraine where the crisis broke out in 2014.

SubQuestion No : 25
What is the meaning of the word ‘unilateral’ used in the passage?
" A. Involving only one group or country

#< B. Treaty
< C. Negotiable
25 D. Straight down

Question ID : 630680177414
Status : Answered
Chosen Option : A




Q.1 fF=fafaa d & o ar 3z Aare 82
Ans X A. dfeaied (Volvox)

«” B. T7TgH (Sargassum)

< C. a9 (Ulothrix)

/< D. FemTssHEg (Chlamydomonas)

Question ID : 630680177505
Status : Answered
Chosen Option: D

Q.2 =il & fore emg ot |, wRa 6t errga Rig A Mfer sfAmr situ gafde 2023 & w@sr @
Sfrar 8?

Ans X A Sigz-11
& B.3fE%15
% C. 3713
% D. =17

Question ID : 630680179658
Status : Answered
Chosen Option: C

Q.3 ¥R 2022 d, wrdg sfta= sfiwn A (LIC) 7 srum fafSies wefiie ot o™ & ward & siafq,
# "2fS Sia" @1 IgTes favar umi

Ans X A feeeft
o B. 198
X C. &
X D. e

Question ID : 630680179697
Status : Answered
Chosen Option: B

Q.4 wva e sifdfraw fre o aiRa gom un, fSrwds #ror 14 350t ok o7 dhe anfa nda @t
Fmfor gam?
Ans X A 1957
X B.1955
& C.1956

X D.1958

Question ID : 630680179665
Status : Answered
Chosen Option: C




Q.5 Y TR F1 U RIF IR TR T TR-TR ITIROT fhar sirar 8, 39w fore aof 6 saaf gt &2
Ans X A ORI aoi

o B. =R guf

< C. g quf

2< D. 3Rt} aof

Question ID : 630680179683
Status : Answered
Chosen Option : A

Q.6 2022 & 3id a< AT gd WA faumr i ariian Rulé & srgar vRa &Y wqa Iu«fal &
Tay § Rafaf@a § @ -1 gl 82
1. gfrar & weréar Y Tt (77,000) 3R it (UNICORNS) &t @z (107) & arrat & wRa
Y TR R ugad ”—IA R I
II. ¥R4, g | vieifidl deaasri & fog Jast st e = § fi R R wR gl
lll. ¥Ra A affes TaraR Yaehiah {Global Innovation Index (GlI)} &t sra=ft afyer Ik F ad
2015 # gfar i 130 srefemawaradt # 813 & 2022 # Ieviaig ®U & 403 R W= ugd T

Ans o A Il SR
X BRI
X cusRIN
2 DL eI

Question ID : 630680177429
Status : Answered
Chosen Option: D

Q.7 HTHT URHIY] ST he & TR, Theet 3R ST & Tg el i 3T # AIFTHISE &l THF WeR
g, e uiRas o1 et foraar wmr @2

Ans X A. 18-20%
X B. 38-40%
X C.2830%
& D.810%

Question ID : 630680179701
Status : Not Answered
Chosen Option : --

Q.8 RA # GTT=AT gl & fag ugelt IR 'STaTd g iar (Surety Bond Insurance)' &1
YUY e R ur?

Ans X A dig TEe
< B. itz
& C. oy ¥
" D. Afas tead

Question ID : 630680179695
Status : Not Answered
Chosen Option : --




Q.9 < (Jagoi) 3R =« (Cholom), T & &) q= UNT 81

Ans X A ST
« B.wfogd
X C. g
< D. anfeht

Question ID : 630680177465
Status : Answered
Chosen Option: D

Q.10 WRd & g1 ARt gRT fR=fafEa & @ forg wsg 7 "fAsr -929" sy farar war ar?
Ans o A BT

X B. U@

< C.

25 D. 3rgH

Question ID : 630680179731
Status : Not Answered
Chosen Option : --

Sgier FIF-3T UT?

Ans X A. Gfemg SrasT sreter
7< B. f&erhd fiEier
< C. SrIEaNT Sfeter
o D. ¥TRd ©I3l SHigle

Q.11 ferea fA2F (Cripps Mission) &t SiTtherdT & a1g faifeer e & f@«Ts wgTen misht & wpa

Question ID : 630680179672
Status : Answered
Chosen Option: D

g&aer fahg g 472
Ans X A.1993

& B.1991
2< C.1990
2< D.1992

Q.12 Hal=a grarerd & ararier &l geM & fAT ugell IR ue R T4 & 108 9wl gRT fahg af d

Question ID : 630680179735
Status : Not Answered
Chosen Option : --




Q.13 SHaRt 2023 # St foran man, Aafaf@a & & #9-a1 U wRd &1 9= A9 W 8u 8?2
Ans X A. U5 (PayZapp)

#< B. ™Y (PhonePe)

«" C.9%u (PayRup)

#< D. T U (Google Pay)

Question ID : 630680179692
Status : Answered
Chosen Option : A

Q.14 T8 & IoTyal el greRR J1eR 7 R af amrRT ok Reeht wR SRR wnfda frar a?
Ans X A 1527

< B.1529
& C.1528
 D. 1526

Question ID : 630680179661
Status : Answered
Chosen Option: C

Q.15 MRd GHR ZRT 2022 ek fha=t 2w dfgareit e ufdure forar mar 82
Ans X A.10

X B.6

X c.8

o D. 4

Question ID : 630680179706
Status : Not Answered
Chosen Option : --

Q.16 FRrafaf@a & @ wi-ar1 9, aglis & fazne dum f uRuereii- S ari, emerrimeit sik
STTRTNAT Tg! & o+ 3R frerra & wgeagof et Aumar &2

Ans X A gz dred g
2< B. fogga grehia 9
X C.afadh I
" D. TSAThYT I

Question ID : 630680179719
Status : Answered
Chosen Option : A




Q.17 f=fafaa & @ wi-ar Aag sgar @ & 'fRR aoam R, 49 h vas [fga aon (erafa s n &
TEAT) T &Tel Ik AT S HRATIUTA! giaT &2

Ans X A. 3o &1 7 (Dalton’s Law)
#< B. I1ed &1 fH (Charles Law)
o C. rgd &1 794 (Boyle's law)
#< D. amame! @1 fAa| (Avogadro's Law)

Question ID : 630680179723
Status : Answered
Chosen Option: C

Q.18 f=ifaf@a d | forw =a 7 8 AT 2023 Y siaRidha afgen fRaw & wfgwrst &t 21000 ufa #rg
e FA & forg ‘wrseft g g ol RF T Fi v Y &2

Ans X A. fguTmeer mear
o B. T U
25 C. SR U
25 D. 31T meer

Question ID : 630680179653
Status : Answered
Chosen Option : B

Q.19 et UratE arehich 2023 H WRE T hI--TT VI 82
Ans X A 757

X B.1057

X C.957

o D. 85T

Question ID : 630680179651
Status : Answered
Chosen Option : D

Q.20 T H Ugeh i+ arel! wafy s wfe @ g i giedt @ ot 3@ wer sran 82
Ans X A 79 9@

< B. 9= 9
< C. drR 9

o D. Hg audeh

Question ID : 630680179688
Status : Not Answered
Chosen Option : --




Q.21 TEH UeH et S, T 3R Teftepeoiia St darer, WRa TRaR gR1 € 1€ arfife Rt
2021-22 & JFER Gehlha Ua- - TR AU 3MTehet R2H1 6l e Fafafaa 7 @ fora o=
d gad 31fdrer 81

Ans X A. arirmesr
& B. Pl
< C.mgrE
o D. Torid

Question ID : 630680179711
Status : Not Answered
Chosen Option : --

Q.22 TS & A deh, Gag & Fepe 7 ara &3 ([ ITCZ gt wiraT 8) Sit et fgwrera &
TR 20° N 31tk 25° N & ofta IR Y ik f@wes Strat 81 1TCZ o gof &u o/ 82

Ans X A.Indian Tropical Convergence Zone (3f3a giftieret dhrasi~ Sii)
7< B. Indian Trans Convergence Zone (3f$a i shaoi= Sii)
«" C. Inter Tropical Convergence Zone (33 gifichet thwaoi= STi+)
Z< D. Inter Trans Convergence Zone ( £23 gi¥ o~ Sii)

Question ID : 630680179705
Status : Not Answered
Chosen Option : --

Q.23 [T MueT weieH urfAhor (NDMA) 3 ga sl & 2nfier ar aonRat Y nfafafaal & enfaw
fhal afgd 7g & RO & Hifds-19 & wu 7 yArfoEa g W, ufa ga afe & g e aft
Y FRrwmrfRar < ofi?

Ans ¢ A 350,000/-
2< B.%75,000/-
2< C.%1,00,000/-
2 D.365,000/-

Question ID : 630680177435
Status : Not Answered
Chosen Option : --

Q.24 WRA & d@faum & frg srg=de # Rfaf@a sy o1 e fovar man &2

"ARTR fohg g faRft oft aafhs ot 59 avg Y ARTa & snuR & aR & R fag e, [K{ah
STl g1 ok, fgvraa A =gl T Smem e 9 @1 39 oue udE & ghie @ el oA ofk =
e & AR A &R forar smemm

Ans X A 3ec 20
X B. 324 21
o C. 3% 22
 D. o=z 19

Question ID : 630680177518
Status : Answered
Chosen Option : A




Q.25 1944 § AS| & AgIA32re & U § UEHR TgUT & o a1%, 9 G i fora= aRenifda famar on
5 gewr 9agar & gifies w9 @ gahanT dfast Yarsit & g e # & aoima dq & wR
for=aTe T SIFERUT AT STaTE B?

Ans X A. 3TR. S Foff
o B. 3R E. UA. FIeR
& C. TarRm et
< D. ScioisR hiad

Question ID : 630680179675
Status : Answered
Chosen Option: D

Section : General Intelligence

Q1 3 RFey @ 999 FL, S SEOad ST ¥ SEEE =EE (7) # Wiaeig e

6, 18, 36, 108, 216, ?

Ans XA 532

« B. 648

x<C 432

XD 348

Question ID : 630680177649
Status : Answered
Chosen Option : B

Q.2

A B, C, D, E, F 3R G =7 91 =4 & 9{leT, eaig & HorE-37eT
R AdmaR s R as s CHrofmm R A g F AR C &
AT Faor 1 AFT A afleT F F F SF S B H Wew g C A G
FEm T AR afeT § A T D F S Faor 2 gEar Frafev EF
3R G & /= 3 g=at & glew g1 D H e FEER FF El YFAR F
fraer ofreT 22

Ans 5 A E
X8 D
vC G
<D A

Question ID : 630680176403
Status : Answered
Chosen Option: C




Q3 F gdor A MN R & 06T &, & & 7wy # ever & [T w7 9fafe =m0
M

A78mb

"odm8 Y A
~dm&7A
<~dm 8 N A
~~dm@8VY A

Question ID : 630680176462
Status : Answered
Chosen Option : A




Q.4 mmﬁ?ﬁﬁ#maﬁﬁwmmﬁmﬁ%@mﬁmaﬁ?ﬂmaﬁmﬂ
T FHT 8

(6]

Ans

& B. O

xo. 0

Question ID : 630680176456

Status : Answered

Chosen Option : A




¥ e g gl @ gl FEmat &1 g Fr g 2

22

17

Ans XA 1706
+ B 1760
X< C 1670
~< D 1690

Question ID : 630680177581
Status : Answered
Chosen Option : B

Q.6 fam o faeredt & ¥ 3@ TEAT F TUF FL, S SOl THEOT § usaEE = (7) @ gownfig
T Hepa

327.17 — 223.69 + 247.89 + 30.69 x 17.37 = ?

Ans XA 923
#< B 392
« C 239
#<D 329

Question ID : 630680177655
Status : Answered
Chosen Option: C

Q.7 fu v Rt & ¥ 3@ WEA @ WS By S RERT g@er & vedars e (?) @ goweig
T T g

150, 140, 120, 90, 50, ?
Ans oA 20

vB8 0

xc 10

X010

Question ID : 630680173450
Status : Answered
Chosen Option: B




Q.8 fom T ¥y @1 ufew i @ few ow uy @ 3 SfEm
T afr & o o e C1. c2, 3. ¢4 3R o5 § o & vedw @ ase s s §
+ C1 & 7= C2 § ERp &
+ C2 W T C3 § W IR T HO &
« C3 @I Tl C4 & a=iel @ HT 3
+ C4 T AFF C5 & T @ I E
e & & #F @ g9 & o oo B
Ans > A C2
X B Cl
X C C4
« D (C3

[ Question ID : 630680177586
Status : Answered
Chosen Option: D

Q9 T=RRE & 3 F & gom, & 7 gwer & aw ov ¥ 74 wew it o ok @ 13dt T ¥ S
I & &

(a'lﬁ'}2452'\678654389?65?9?60?89345936?3842](E'Iﬁ')

Ans X A g
XB 5
<CF
V0 6

Question ID : 630680177595
Status : Answered
Chosen Option: D

Q10 5 zdor 1 MN X @7 ST ¥, G & 7 st @ ador # e wd sfafie wuf wt
M

WGQ54R

TxfA4200W
<A NS QODOW
<~ANS50 DO W
~ANe OOW

Question ID : 630680176461
Status : Answered
Chosen Option: D




Q11 50 Teganfindt #r v Fam &, gorg, @t F 10 T 3T §) Y gl 77 vy 3T F 18 E, A
UEHTT & GG & FAT HleA-A1 &2

Ans oA 9D
B 23
xc 24
XD 21

Question ID : 630680176398
Status : Answered
Chosen Option: B

Q.12 gam%@mﬁ%ﬁﬁﬁmﬁ:ﬁrmﬁmimwm%\mm?rsﬁa:rm
I

ANS XA THETEITH
X B HaTgerar
X C. HHIETH
v 0 HIHATH

Question ID : 630680176452
Status : Answered
Chosen Option : A

V0 rafafeg o & o AT uRfae & TmT

COUNTY
~ COMNNLY
-~ CONULA

< CONULY
<~ COUNLY

Ans

Question ID : 630680177639
Status : Answered
Chosen Option: B




Question ID : 630680176396
Status : Answered
Chosen Option: B

Q.15 frdr A e 9w 3, WORLDCUP @I MPSXQDVE & &0 # Heas forar mmar ¥ sdr smor 3
MOTOCORP F ¥ Feas frar Smmm?

Ans > A PPUNPQDS
« B. PPUNQPSD
X c. PPUNQPDS
< b. PPUNPQSD

Question ID : 630680177602
Status : Answered
Chosen Option: B

Q.16 IR eR-#9E 7w fov o €, o & ow fmlr 7 fedt o @ v woe € 3R Ue 30T € 39
ITEIE FER-TAF oA N whA B

Ans XA BASIS : UKUCD
X B. ANGER : TGIPC
+ C. BEACH : JECGC
X< 0. ABUSE : GUWDC

Question ID : 630680177623
Status : Answered
Chosen Option: C

Q17 =i 7 v §7 W 3o H AR A aet ¥ §) e, @ F &% g g F der ¥ dew,
aaﬁa‘rﬁ:@la—:art’risr%lm,ﬁﬁar%@mﬂ@ﬁ}ﬁf@ﬁ%@ammﬁﬂab?ﬁ
T B 9 HiT dar §7?

Ans XA q:ng?r
X 8. AT
& C. gertaeT
X 0. forcrer

Question ID : 630680173369
Status : Answered
Chosen Option: D




Q.18 weir afdsrmr Reem &1 3T wo=T % FIA 1 2 km Te F aE T aC ook § AT 3 km = #) R
TF HOF a¢ T § AT 4 km Tere §) 3 W G F o wr @2

A v n ofgEs
xaqﬁ

X c. gigyor
X 0. FeeR

Question ID : 630680176435
Status : Answered
Chosen Option : A

Q.19 =g faepeuw @ wow #Y, Torwd HeR-THg & wLT 9@ WAy & S A Ry ow seR-meg & g
T E

VACANCIES : DJFTOWBDB

Ans XA VACATABLE : FMCBUBDBW
X B. VACATIONS : WBDBUIPOT
X C. VACCINIAL : DDBWIMBJO
« 0. VACCINATE : OBUFIJWBDD

Question ID : 630680177616
Status : Answered
Chosen Option: D

Q.20 fgmr o 21 @t ulpw 3R = fGr ow uw @ s i
afE
XSY @ ¥F g X v & A
XavymaiEx v ady
X#YRATEX Y& A &
X@YSFATNEXL YR TG & A MSL # K@ N &' & 59 & M, N ¥ 5w vor wafta &7

Ans o A =1t
« B. ETar
X c. ==
X 0. T

Question ID : 630680177610
Status : Answered
Chosen Option: B




¥ DAfafRT Uste # aenEET J 79 S
93 - 30 x27-35+17 =7
Ans XA B2.4
X5 65
Xc 67.5
« D 65,7

Question ID : 630680176477
Status : Answered
Chosen Option: D

Q.22 1 & e W #, RESOLVE &I NUGNTDU & &9 & feag fvar =ar §1 PROBLEM @l S8 H7aT
#F ¥ geag frar AT

Ans > A NDOARPQ
X 8. NDOARQP
« ¢ NDOARQQ
X . NDOAQQQ

Question ID : 630680177599
Status : Answered
Chosen Option: C

Q.23 Forw & & v Ffgen & F@FT FAT o FaT, "H e F FEA IF B GH IeAH 9T 1 A §'
ofgen, #ffE & Fg R TesfT 2

Ans o A ag;r
XB,‘:lJ':;IT
XC |
A D geer

Question ID : 630680173419
Status : Answered
Chosen Option : A

Q24 fgefered s ¥ TS [ (7) @ UfawiE e ae Reed & wwE |
PASS, TDUT, XGWU, ?, FMAW
Ans A BIYV
X8 BKYV
Xc AKYV
X0 AJZV

Question ID : 630680177589
Status : Answered
Chosen Option : A




Q.25 sEsh aoiaren & gAY 9T @ e oA & R o ¥ 3R uge o A @ oftese FE REm amm d
I | HET 90 BT ® 7d HeW & S0 @ 14l geme
Ans oA T
¥B V
XC W
XD U

Question ID : 630680177592
Status : Answered
Chosen Option: B

Section : Quantitative Aptitude

Q.1 Bl 379 @ 60° T T =@ (sector) Fer ST ¥ 3R 3w aFHA 182 em? ¥l 3o #r fieam em
# AT FfeT

Ans 5 A 5
xB 3
xXc 4
s 6

Question ID : 630680179633
Status : Answered
Chosen Option: D

Q2 Tl afew, B agt $r o 2000-2020  swaEar guier §1 a¥ 2000 & gewr &, aF 2015

#F FEE 7 Sioud g Aa Hifaw
af SR
2000 1,61,29.340
2005 1,73.40.962
2010 1.82.67.900
2015 1.97.03.486
2020 2.03.85.413

A A 20% & 23% ¥ @
X B 14% 3R 16% & &=
XC 24% HT 26% * &=
XD 17% 3T 19% & &=

Question ID : 630680179610
Status : Answered
Chosen Option : A




Q3 e fafdea o=l x |, @RS e & 7o R e, g@y 9¥ # S 99 F B s
3770 3T 3847 ¥ 9o x (3 ) AT FrraT)

Ans A 6,000
X & 6,300
X c. 6,700
¥ 0 7,000

Question ID : 630680179593
Status : Answered
Chosen Option: D

Q4 4§ : 24l & TIAGH FAT T (simplest ratio form) # e HIfFT|

s XA 3:2
vB 21
xXc2:3
XD 1:2
Question ID : 630680179583
Status : Answered
Chosen Option: B
—_—

Q.5 2 =, P 3w Q % dr #r gl 400 km ¥ A 3 B v Ty Fwe w2 P AR Q ¥ U gy A
3T T U FAS §, T2 B H T, A H T F 10 km/h sfa ¥ ofy SR F 3 G A A SR B
F glr & 7 71 3R E 70 km &, & B F T km/h F 7 FiSw

Ans « A B0
X8 55
xc 50

<D 45

Question ID : 630680179597
Status : Answered
Chosen Option : A




Q6 Rrafafla swrfy &, far AB frafafla & ¥ R wafeor @1 qof st 32

Y

X1 +
R - - < .

¥1

AnS XA 3x - 2y=6
XBdy -x =8
Xc x+4y =2
D 2x + 3y = 12

Question ID : 630680179624
Status : Answered
Chosen Option : A

%7 (985 + 897)2 — 4 x 985 X 897 FH AT AT HITI
Ans X A 7892

ve 7744

xc 7474

X0 7928

Question ID : 630680179547
Status : Answered
Chosen Option: B

Q.8 et g T ve finger fafse R aror &, formerr 3w dram 1 12 ft arel feel = & TR ik
T g1 e AR & 72 ft? dFwe & T §, BRle @ SuE A Srew

Ans XA 15
XB 6
xXc 9
« D 12

Question ID : 630680179626
Status : Answered
Chosen Option: D




Q.9 1 ==, 22 W A Fwa A gor F, 1 3, 22 7R H Fovm #F 8% F JfF @ AR 3
ey, 22 = B & 5% #r 9% g8, v o 31 Rmey, 22 & Fo7w 296.30/ I o, & 1 S=E22 w5
9grer & AT (H/r.F) g A2

Ans X A 80
X6 82
< cC 86

« D. 85

Question ID : 630680179566
Status : Answered
Chosen Option : D

Q.10 v =fFg 12 km #r fr = Tl a@rr 156 km/h & T9 ¥ F7 w2 § #R BT 156 km Hr g =
&1 ga 75 km/h Fr el ¥ T T AR T 32 km Fr gl F 3w 23w 28 km/h Y W F T
FI 1 I A F BT swEr e swa = (kmvh ) F7E FHiiEw

Ans o A 50
X< B. 52
X C. §§

XD 58

Question ID : 630680177964
Status : Answered
Chosen Option : A

=

Q11 % 3w 2432 & 3= T, T Fhar @1 20% & A AT §1 3/ W R Fhem gew @ ) dfea we
=fge, @fe 10% A g & & =1 ofr, 30 30% = = g7

Ans oA 486
X8 502
X C 468
v 0. 520

Question ID : 630680179578
Status : Answered
Chosen Option: D

Q.12 s 1542, 1754 3R 2125 #t a1 & @& g&w « F Fenfoa B sar &, & veds Rufer & dwwe y
9TeT BT 21 ( x — 5y) & AT T hiter?

Ans > A 15
B 28
xc 23
X019

Question ID : 630680179557
Status : Not Answered
Chosen Option : --




Ans A 1B
X B 20
Xc. 24
XD 12

Q.13 frr o gowemhe & For 2245 #, 5 kg &, T ofider 0w # dider v 37 Fr vk ¥ i ofy s
#r & A ofraer 97 Fr S e w1 AT 2165, O U kg & W gew FT €7

Question ID : 630680178021
Status : Answered
Chosen Option : A

Ans XA 12.24%
X B 13.15%

A D. 15.08%

« € 14.55%

Q.14 ve sizr fagam, 220 F 9 372 @iear ¥ A 5% 228 & 11 &1 g7 & ¥=7 ¥ 3HST 0% A7 A wieerd
T HT (& geTers TuE A% qoifed)|

Question ID : 630680179577
Status : Answered
Chosen Option: C

Ans XA G
X8 8
xc 9
D5

Q.15 =fy P, fiesr ABC & 9fthes &, Sy sfifisar 13 cm §1 &= ey fF BC = 24 em 3 PQ, BC
F duag g1 ar PQ #FTr &= (em ) Fr 87

Question ID : 630680178043
Status : Answered
Chosen Option : D

EE

Ans A 307.2
X B. 368.5
x<c 321.8
XD 334.4

Q.16 29,600 #r TR T, 8% M= &T § 18 HeFgsy, 2021 ¥ 13 AN, 2022 T FH WUROT =4 (IF) A

Question ID : 630680179589
Status : Answered
Chosen Option : A




Q.17 =fy 7 w=farar or 5 Afene, ofy Be 21,400 77 wct & o 7 Afgene v 11 o=fpo, wRRem @ &)
TR FAE FEN?

Ans 1 4,160
X & 3,780
X c. 3,450
X . 4,000

Question ID : 630680179585
Status : Answered
Chosen Option : A

Q.18 ﬁﬂﬂmmﬁaﬂa;m?a:rﬁa:ﬁwiﬂ%aﬁrmﬁa;maﬁrmﬁ ft &1 3mfr FSlr T SEE
({t2) & 717 Efem

Ans
1373

Question ID : 630680179632
Status : Answered
Chosen Option : B

Q.19 o= o 3w f39da far ¥ 9 ©@ U oF &7 33 o= H 9K #ar g1 IfG o & 91 36 km/h ¥ 3R
IEr AN, ¢ FH wAS F 10% ¢ TG TEEr 15 m/s F AT ¥ A W AT, o & H w6 (m #H)
et 87

Ans X A 800
X 8. 700
xc 850
« D. 750

Question ID : 630680178004
Status : Answered
Chosen Option: D




Q.20 Fr=faflT IR, &&-39 & §7 # T TeT 1 3HET & 9y Jef 7 FEnaT ¥ weioa, e
ezt garr suF Higesr ¥ TRy BT T At g B

-3 F BT F WeF T A F
E 4000 3350
A 3500
3000 2300
% o0
1150
E 1000 T
= R
&
o & &
ﬁ@ﬁﬁg‘@?‘ gﬁg& P
P

T F UE O N ATEE & § - T ST & A oNEnl aur serted i & ae ohEn %
Sfoerd F1 3aa A Sifew| IER # o TE F R ) e # e S

Ans XA 57:210
X B 23:101
« € 303:335
< D. 303:575

Question ID : 630680179615
Status : Answered
Chosen Option: C

Q.21 Tl oirem o 30T, B o F 22% I WoF FAAT &, HT 12 I F HFeAOT & A &, T FoA
SR & 32% 3 9T S &, AT et @ & BT soeeas (minimum marks) & 3 3w it
AT HAT § TR # SedoT @9 & R sgmess A HifEw

Ans 5 A 42
X B 48
Xc 40

« D. 45

Question ID : 630680179572
Status : Answered
Chosen Option: D

Q.22 Tl SfEr & R st #mer & s s & g 5 - 3§ s e 21,238,500 §1 ARy Rrer &
i 3 & 4% A g &, 3 AT Fr A 3w F 8% F Iy g & O e F afts
st s & giRE REaT 7T FifeT

Ans XA B%
x 8 0.6%
X C 6%
+ D 0.5%

Question ID : 630680179560
Status : Answered
Chosen Option: D




Q.23 A sk B, B w4 # 6 R F 9@ #¢ wew §1 afy A Foe wwmw afw & e Aty § W\ w

ﬁtBMmﬂﬁraﬁrwﬁ@é?ﬁ?maﬁ,eﬁ?aﬂraﬁrﬁ%ﬁﬁwaﬂﬁ'ﬁlBa?r
A FH AT W R FH FS g G F QU A FH R e

Ans A 10
xXB 12
xXc 18
D 15

Question ID : 630680179602
Status : Answered
Chosen Option: D

Q24 o =3 #1 P, 10 & & #X FFA & Q, 15 & F & woran &1 ¥ 5 7 w9 w3 §) 9w FHR
gaw 2 oAt # 9 e mam 3l @ 79 & R 3w 12700 fRew € & P 3R Q @ i Aeel (2
7) et 27

ans X A 180
x8. 900
X c. 270

0 450

Question ID : 630680178013
Status : Answered
Chosen Option : D

VB ST #F ¥ e o B #T 9uT fiwl

Ans 7
o A ——
12

xs

6

xe 13
18

xo 19

22

Question ID : 630680179551
Status : Answered
Chosen Option : A






